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LABOUR

OVERVIEW
o Guess the meaning of these international words:

indicator, economic, gas, extraction, construction, Canada, Canadian,
economy, priority, province, proportion.

e Learn the words from the text:

unemployment — 6e3paboTuia

monthly  unemployment rate — exkeMmecsuHBIi  ypPOBEHB
0e3paboTHIHI

closely — BuumarenbHO

watch — cnenuts

indicator — noka3areinn

well-being — 1) 3mopoBbe 2) Gmarococrosiaue 3) Guaromnosydue,
MpOLIBETAHUE

news story — octpblii BOIpocC

as — NOTOMY 4TO

hover — konebarbcst

largely — B 3HauuTeNBHOI CTENICHU

mining — roproe aeino

extraction — usBneuenue, 100b4A

course — xon

straight — 3. moapsin

cornerstone — xpaeyroJybHbII KaMEHb

priority — 1) mpuoputet 2) IperMyIIECTBO

Set — ycTaHaBIMBaTh

generally — B GonbIIMHCTBE CliydaeB, OOJBINEH YacThIO

to head — HanpaBnsITHCS

participation rate — ypoBeHb BOBJICYEHHOCTH

e Read the text and translate it with the help of the words above:

The monthly unemployment rate is one of Canada's most closely watched
indicators of economic well-being. In 2006, the unemployment rate
continued to be a good news story, as it hovered around a 30-year low,
thanks largely to strength in industries such as mining and oil and gas
extraction as well as construction.

The average unemployment rate over the course of 2006 was 6.3%, down
from 6.8% in 2005. Employment rose 1.9% in 2006— the fourteenth
straight year of job growth in Canada. As most Canadians receive most of



their income from a job, paid work is a cornerstone of our society and
economy, and having a job is a priority for many of us.

Six provinces set 30-year low unemployment rates in 2006. In all the
western provinces, the rate was under 5.0%; it generally increased from
Ontario (where it was 6.3%) heading east, with the highest rate, 14.8%, in
Newfoundland and Labrador.

Canada's labour force participation rate—the proportion of working-age
Canadians who had a job or were looking for one—remained at 67.2% in
2006.

Answer the questions about the text:

1. What importance do Canadians attach to the monthly
unemployment rate? How do they watch it?

2. What happened to this indicator in 2006?

3. Was the monthly unemployment rate extremely low?

4. What were the reasons for such an exceptional result?

5. What was the average unemployment rate in 20067 In 2005?

6. What about the employment rate in 2006?

7. For how long has job growth been observed in Canada?

8. What is the main source of income for a Canadian?

9. What is the attitude toward paid work in Canada?

10. What does having a job signify for a Canadian?

11. What record was set in six Canadian provinces in 2006?

12. Where were the extreme results of the unemployment rate
registered?

13. What does the labour force participation rate indicate?

14. What was the labour force participation rate in 2006?

¢ Find the English equivalents for these word combinations:

ypoBeHb 0e3paloTHIEI; BHHMATEIHLHO HAOMIOMATh 3a IOKa3aTelieM;
SKOHOMHYECKOE ONaromojydrie; OCTPBIA BOIMPOC; KOIe0aThCs OKOIIO
MHUHAMYyMa 3a TOCIIEAHUE TPHIIATEH JICT; BO MHOTOM OJlaromaps; CpeaHmi
ypoBeHb Oe3paboTturipl 3a 2006 rom; YeTBIpHAIIATHIN TOJ TOIPSI; POCT
yucia pabourMx MECT; oOIuladyuBaeMas paboTa; KpaeyroJbHBI KaMEHb
HaIllero OOIecTBa W SKOHOMHKH, PEKOPJ MO YPOBHIO 0e3paboTHIlsl 3a
TPUALIATH JIET; TI0 HANpPaBIEHUI0O K BOCTOKY; pabouas cuiia; YpOBCHB
BOBJICUEHHOCTH;, KaHAIIBI TPYIOCIIOCOOHOTO BO3pacTa.



e Act out the dialogue:

- What is considered by Canadians to be the main indicator of their
economic well-being?

- Especially closely they watch the monthly unemployment rate.

- Do Canadians have a problem finding a job?

- Oh, no. They are doing well thanks largely to strength in industries
such as mining and oil and gas extraction as well as construction.
Over the years Canadians enjoy job growth in their country.

- Oh, it’s good news. Do Canadians mostly get their income from a
job?

- Oh, yes. Most of the income comes from their jobs.

- Can you tell me what the attitude toward paid work in Canada is?

- It’s a cornerstone of the society and economy.

- So, having a job is a priority for an ordinary Canadian, isn’t it?

- Itis. Labour force participation rate is rather high in Canada.

- It proves that Canadians are hard-working people. It’s a key to their
economic well-being.

e Answer the questions and make up a dialogue:

Do you have a job? If yes, is it easy to combine work and school? What is
more interesting for you: to work or to go to school? Explain your answer
in detail. What do you know about the unemployment rate in Russia?

Women driving employment growth
e Guess the meaning of these international words:
to vary, characteristic, sex, proportion, record, effect, baby, boom,
boomer, Canadian, group, Aboriginal, typically, non-Aboriginal,
reserve, province, population.

e Learn the words from the text:
to drive — moAroHsATe, rHaTh, 311. CIIOCOOCTBOBATh
characteristic — 1) mokasaresb, xapakTepUCTHKa 2) XapakTepHas yepTa,
XapakTepHasi 0COOEHHOCTh, CBOMCTBO 3) MpU3HAK
to vary — MeHsIThCs, pa3HUTHCS
strong — Beckuii, pelmuTeNbHbIN, ONPEIeICHHbIN
gain — yBenmuueHue, poct, MPHUPOCT
account for — HecT OTBETCTBEHHOCTD, OTBEYATh, BBI3BIBATEL YTO-IHO0
hit a record — mo6urts pexop



push — mpoTalKuBaTh, MPOIBUTaTh

youth — Monoaexs

effect — pesynerar, crencTeue, BIUSHUE, TIOCIENCTBHE
baby boom — peskoe yBenuuenue posxaaeMocTi
participation — y4yactue, BOBJICYEHHOCTh

as — 1o Mepe TOro Kak

boomer — 31. TOT, KTO pommMiCs TOrzAa, KOrAa ObLIO YBEIMYCHHE
POKIAEMOCTH

aboriginal — uCKOHHBII, KOPEHHOM, A0OPUTCHHBII
typically — Tummuuaso

to fare — 1) moxxuBath 2) ObITH 3) OKa3aThCs

reserve — pesepBarys, 3. STHUYCCKUIT 3aII0BETHHK

¢ Read the text and translate it with the help of the words above:

The employment picture varies based on characteristics such as sex and
age. For example, adult women (aged 25 and older) made strong gains in
2006. They accounted for nearly half of all employment growth that year.
Over the course of 2006, the proportion of adult women who were working
hit a record high of 58.3%, pushing their unemployment rate to 6.1 %,
below that of adult men (6.5%).

Youths, those aged 15 to 24, have also seen an improved labour market in
recent years. Their unemployment rate fell to 11.6% in 2006, the lowest rate
since 1989.

The effects of the baby boom are being seen in the participation rates of
workers aged 55 and over, as more boomers reach that age. In 2006, 30.5%
of Canadians in that age group had jobs, and their numbers increased 5.1%
from 2005. The number of workers under 55 rose just 0.9%.

Aboriginal people have typically not fared as well in the labour force as
non-Aboriginal people. In 2006, the unemployment rate for Aboriginal
people living off reserves in the four western provinces was 9.8%,
compared with 4.0% for the non-Aboriginal population.

Answer the questions about the text:

1. What characteristics of a person are important to be employed?

2. What was the situation with adult women in 2006? Did they
make strong gains? Did the employment rate of adult women
hit a record? Was the proportion of their gains bigger than that
one of the adult men?

3. Were the conditions of labour market improved for youths, too?
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e

What was their unemployment rate in 2006?

5. What was the employment rate of baby boomers in 2006? How
did the numbers of workers aged 55 and over increase from
2005 compared with the number of workers under 55?

6. Did Aboriginal people fare in the labor force as well as non-

Aboriginal? Give an example.

Find the English equivalents for these word combinations:
CIOCOOCTBOBATH POCTY 3aHATOCTH; B3pOCiad XCHIIUHA, JOCTUTHYTb
PECHIUTCIBHOTO MPUPOCTA; BbI3BATH POCT 3aHATOCTH, MOOHTH PEKOpA;
CABHHYTh YpOBEHb 0€3pabOoTHIBI /O ...; TIOCIEACTBHA pPE3KOTO
YBCIWYCHUA POKAACMOCTH; YPOBCHbL BOBJICHCHHOCTH; HOOCTUTHYTH
9TOro BO3pacCTa, 4YHUCIO YBCIWYHMBAJIOCH, KOPCHHOC HACCICHUC,
Hpe6BIBaTL B UHUCJIC pa60qeﬁ CHJIbI; IO CPABHCHMUIO C.

Act out the dialogue:

- By the way, what strata of population are driving employment
growth in Canada?

- What can | say about it? Maybe adult women, youths, baby
boomers, maybe some other stratum of population.

- What do you think who is leading the way ( 6bITh BOXXaKOM, HATH
BHEepEé, IOKa3bIBaTh puMep) in this process?

- | guess, women aged 25 and older.

- Do they really account for a large part of employment growth?

- Well, they do. They are driving the employment growth in Canada.

- Do young people in Canada find a job easily?

- I don’t know for sure, but Canadian labour market has been
improved for them recently.

- It’s good news. What do you think about baby boomers?

- Well... Let me see...Do you mean population aged 55 and over?

- No, but many boomers have already reached this age.

- Hm... It’s an unbelievable fact but participation rates of population
aged 55 and over are growing faster than those of the population
aged under 55.

- Wow! This is unbelievable.

- lagree with you. But, it’s true.

- By the way, how do Canadians cope with the national question
within the country? Do they help Aboriginal people find their place
in the Canadian labour market?

7



- As a matter of fact, Aboriginal people don’t fare as well in the
labour force as non-Aboriginal people.

- 1 guess, their traditional way of life prevents them from adapting in
the modern society.

- Maybe. | cannot say anything. Probably they just have different
values, not comparable with the values of the western culture.

- Something like this. But | hope soon they will join if not the
western culture, then the Canadian labour market.

- Let’s hope for the best.

- OK.

e Answer the questions and make up a dialogue:

Do we enjoy employment growth in Russia? What strata of population
are driving employment growth in Russia? Is the labour force from
neighboring countries often used in Russia? Do you think this cheap
labour force is useful for the Russian economy?

Where the jobs are:
Natural resources, the western provinces
e Guess the meaning of these international words:
industry, proportional, extraction, professional, technical, service,
business, finance, construction, social, assistance, sector, peak, gas,
British, occupation, group, Canadian, transport, operator, trend.

e Learn the words from the text:

to gain — mosry4arh, IprUOOpeTaTh, OTBOCBHIBATH

Strong — pemmTeNnbHbIH, 3/1. CyIECTBEHHbIN, BHYIIUTEIbHBIN

to post — naBatp mosTHYO WHPOPMAITHIO, COOOIIATH, OOBSIBIIATH

support  services — ycayrm 1O NOAJCPKAHUIO,  (huH.
BCIIOMOTATEbHBIC CITYXKObI

real estate — HeZIBMIKUMOE UMYIIECTBO, HEBHKMMOCTE

leasing — cava B apeHay

health care — 3xpaBooxpanenue

assistance — 1) momorip 2) BCIIOMOIIECTBOBAHHE

wholesale trade — onrroBast Toprosist

retail trade — posumuHas TOProBiIs

manufacturing — oOpadaTbIBaroIas MPOMBILIICHHOCTh

utilities — koMMyHaJTbHBIC TIPETNPHUSATHUSI
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loss — motepst

manufacturing job - paGoyee w™ecro B oOpabarbiBaroIIeii
HPOMBIIIIEHHOCTH

decline — uaru Ha yObUTH

peak — MUK, MaKCUMyM

gain — mpupoct

shift — ciBur, nmepemerienue

goods-producing — TOBapOTPOM3BO SN

OCCUr — UMETh MECTO

occupation — 3ausTHE, PO 3aHATHH, TIpOQECCHS

operator — oneparop

self-employment — camocTosTenpHAsS — IIpEATPUHAMATEIHCKASL
JeATEILHOCTD

to level off — BerpaBHUBaTE (Cs1)

to settle down — yreubcs, 31. CHU3HUTRCS

¢ Read the text and translate it with the help of the words above:
Almost all industries gained jobs in 2006. The strongest proportional gains
were posted in mining and oil and gas extraction, professional, scientific
and technical services, business, building and other support services;
finance, insurance, real estate and leasing; construction; educational
services; health care and social assistance; and wholesale and retail trade.
Only manufacturing and utilities lost jobs. Ontario continued to feel the loss
of manufacturing jobs, which have declined by 130,000 in the province
since the sector's peak in 2004. There were strong gains in mining, oil and
gas extraction and construction in Alberta, Saskatchewan and British
Columbia.

Manufacturing, despite recent job losses, is still the second-largest
employer in Canada, behind the wholesale and retail trade industries.
Nevertheless, a continuing shift away from jobs in the goods-producing
industries to those in services is occurring.

As for occupations, the largest group of Canadian men works in trades or as
transport or equipment operators. The most common occupations for
women are in sales and services. The trend toward self-employment seems
to have leveled off—reaching a peak of 17.1 % of workers in 1997, but
settling down to 15.2% in 2006.



o Answer the questions about the text:

agrwdE

8.

9.

Did all the industries in Canada gain jobs in 20067

In what industries were there the strongest proportional gains?
What industries lost jobs?

Which province continued to feel the loss of manufacturing jobs?
How many jobs did Ontario lose during the period from 2004 to
20067

In which provinces were there strong gains? What industries got the
biggest number of jobs?

What industry is the first-largest employer in Canada? — the
second-largest employer?

What industries generally lose their jobs? And what industries get
new jobs?

In what industries does the largest group of Canadian men work?

10. What are the most common occupations for women?
11. What happened to the trend toward self-employment?

e Find the English equivalents for these word combinations:

MoJIy4aTh pabodde MecTa; camble OOJIBIIME TPOTIOPITMH IPHUPOCTA;
BCIIOMOT'aTCJIbHBIC YCJIYTH; OIITOBAad TOPIroBJid, PO3HUYHAA TOPTOBJIA;
MoTepsTh pabodrme MecTa; MmoTeps padodmx MecT B 0OpadaThIBaIOIIEH
NPOMBIIUIEHHOCTH; BTOPOW MO BEJIMYMHE Pa0OTOJATENb IOCIe TOPTOBOH
oTpaciy; mepeMelieHie padounx MeCT U3 TOBAPOIPOU3BOISIINX OTpacie
B cepy yCIyr; TeHACHUUS K CaMOCTOSTEIBHON MpeANpHUHUMATEIbCKON
ACATCIIBHOCTU MEpecCTajla paCTu; NOCTUTHYTh NHMKa, TCHACHIUA CHU3UJIACh
1o 15,2%.

e Act out the dialogue:

Where is it easier to find a job in Canada?

There are a lot of fields but the most dynamic industries are oil and
gas extraction and construction.

Avre these industries gaining jobs in the labour market?

Oh, yes. You can also have a try in mining and in retail.

Glad to hear it. But ’'m an economist, as you know.

A good economist can find a job everywhere, especially in such
fields as business, finance, insurance.

Well... I'm at a loss. The most real thing is, | guess, retail.

Why do you think so?

10



Because it’s the first-largest employer in Canada and most
Canadian men work there, or alternatively as transport or
equipment operators.

It’s a good idea. But if you try and don’t like it you can organize a
firm of your own: finance consulting or something like that.

Is self-employment popular now in Canada?

The trend toward it seems to have leveled off. But it is still popular
with Canadians.

Thanks for sharing your point of view on this issue with me.

You’re always welcome.

Answer the questions and make up a dialogue:

Is Russia rich in oil and gas? Do many Russians work in these industries?
Why do these industries attract so many Russians? What about wages in
these industries?

Changing work hours

e Guess the meaning of these international words:
futurist, fact, indication, reason, proportion, sector, to convert, position,
personal, preference.

e Learn the words from the text:

leisure — cBoGOHOE BpeMst, 10CYT

futurist — pyrypucr

to predict — npencka3biBaTh

to decline — ymenbIiaTbcsi, yObIBaTh

steadily — Heyks10HHO

full-time — 1) nonubIit pabounii aeHb 2) mosHast paboyast HeAes
full-time employee — paGoTHuk MO HaiiMy Ha MOJHBIA pabouwit

JIeHb WJIU TOJTHYIO pabovyro HEAeII0

Henems

straight — cpasy

indication — 3Hak, ykasanue

hot labour market — pasorpersiii ppiHOK Tpyaa

at capacity — Ha OJIHYIO MOIIIHOCTh

existing — umeromruiics

shortage — HexBarka

proportion — goJs

part-time — 1) HenomnHbIA paboumii AeHb 2) HEMOJHAs pabouast
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labour — 31. pabouas cria

to convert — mpeBpaiars, NepeBOANTb, TTEPEAEITBIBATH

position — momKHOCTE

school — 1) mkoma 2) yuenuk 3) QakyabTeT YHHBEPCHTETA,
YHUBEPCUTETCKUI KypC

out of personal preference — He Mo co6CTBEHHOMY JKEITAHUIO

e Read the text and translate it with the help of the words above:

We have yet to reach the lives of leisure that some futurists predicted last
century. In fact, after having declined steadily since 1994, the average work
week for full-time employees rose in 2005 for a second straight year.

But the recent rise is not necessarily a bad thing—it is one indication that
the hot labour market is almost at capacity. Employers unable to find more
staff are giving more work to their existing employees.

Labour shortages may be one reason why the proportion of people working
part time has been declining in recent years, reaching 18.0% in 2006, down
from 18.8% in 2002.

Most job growth has been in full-time work. In 2006, over 9 out of 10 jobs
created were full time. To meet their growing labour needs, some sectors
have converted some part-time positions to full-time jobs. Among those
working part time, most do so because they are attending school or out of
personal preference.

¢ Answer the questions about the text:

1. What kind of lifestyle did futurists predict 100 years ago? Did
Canadians attain such lifestyle in 2006?

2. What happened to an average work week for full-time employees in
1994, in 2005?

3. What does this rise indicate (moka3siBaTs)?

4. What usually happens when the labour market is at capacity?

5. Why did the proportion of part-timers decline in 2006? What was
their percentage in 2002, in 2006?

6. Where did most job growth happen in the labour market?

7. What can you say about jobs created in 2006?

8. Why did some sectors convert some part-time positions to full-time
jobs?

9. What are the most common reasons to work part-time? Does this
often happen out of personal preference?

12



e Find the English equivalents for these word combinations:
JOCTUTHYTHb JKM3HH, IPU KOTOPOW Yy 4YeJOBEKa MHOTO CBOOOJHOTO
BpPEMCHH; HEYKJIIOHHO YMEHBIIATHCSA; CpeHss padodas HEIens;
paboTHUK MO HaliMy Ha MOJHYI0 pabouyi0 HeAeNto; BTOPOW Tof
NOJIPsI/I;, HEJaBHEE YBEJIMUYCHHE; MOKa3aTellb TOr0, YTO PHIHOK Tpyna
paboTaeT Ha MOJIHYIO MOIIHOCTH; HEXBaTKa paboueil CHIIbI, JIOIH,
paboTaromye HENOJHBI Pabodmii eHB/HETIONMHYIO0 pabovyro HEIENIO;
Oompliass yacTh pocTa pPabdO4YMX MECT; YAOBIETBOPSATH pacTylIHe
HYXIIbI B paboueii cuiie; mepeBecTH HEKOTOPhIe JODKHOCTH Ha MOJTHYIO
padouylo HeIento; MOCElaTh YHHBEPCUTET; HEe IO COOCTBEHHOMY
KETIaHUIO.

e Act out the dialogue:

- Do alot of people in Canada work part-time?

- Some Canadians do so, because they attend school or out of
personal preference.

- It means that most people who work part-time would like to change
the situation: they would like to work full-time to earn more
money.

- Right. The exceptions are only university students.

- OK. Do employers sometimes convert part-time positions into full-
time ones?

- Sure. If there are labour shortages in the market and employers are
unable to find more staff, they just give more work to their existing
employees.

- Well... it means that the labour market is rather tight, it is almost at
capacity.

- You got it right. It means that the unemployment rate is very low.

e Answer the questions and make up a dialogue:
Do you have a job? Do you work part-time? What will you do after
graduating from the university? Is it easy to find a job for a student in
Russia?

13



Wages on the rise
e Guess the meaning of these international words:
total, inflation.
e Learn the words from the text:
to be on the rise — uaTu B ropy, MOIHUMATHCS, TIOBBIIIATHCS
tightening — 1) yxxectouenue 2) yIioTHeHHE, Cy)KEHHE 3) HANPSDKCHUE
to tighten — cTsiruBatbcs
to push up — 3. yBeMuUBaTh
to take into account — npuHUMAaTH BO BHUMAaHKE, IPUHUMATH B PacyeT

e Read the text and translate it with the help of the words above:

The tightening labour market has pushed up wages. In 2006, total labour
income grew by 6.1%, well above the inflation rate of 2.2%. Employees'
average hourly wage was $19.72 in 2006, compared with $15.59 in 1997.
When inflation is taken into account, that meant a 4.8% average increase.

e Answer the questions about the text:

1. What happened to the wages of Canadians when the labour
market began to tighten?
What happened to total labour income in Canada in 2006?
What was the inflation rate in 2006?
What was employees’ average hourly wage in 20067 In 1997?
Does real income depend on the inflation rate?

arwbd

e Find the English equivalents for these word combinations:
HaNpsDKCHHE pBIHKA TpPyAd; MOJTOJIKHYTH POCT 3apab0THOM IUIATHI,
ypoBeHb MH(DIIALMY; CpeaHsist 3apa0d0oTHas IU1aTa 3a 4ac; [0 CPAaBHCHHIO C;

Koraga I/IH(i)J'IHI_II/IH NOPUHUMACTCA B pacydCT; O3HA4YaTh CPCAHCC YBCINYCHUC B
4,8%.

e Act out the dialogue:

- When there are labour shortages the market pushes up wages.

- Right. If a person can choose where to work a good wage becomes
a crucial factor.

- If income grows faster than the inflation rate people get wealthier.

- OK. Do you mean this is what happened in Canada in the mid-
2000s?

- This is exactly what | meant.

14



e Answer the questions and make up a dialogue:
What do you know about the inflation rate in Russia? What do you think
about wages of Russians? In which industries are wages better? in which —
worse?

Alberta's employment boom

e Guess the meaning of these international words:
America, proportion, province, booming, gas, construction, sector,
national, Canada, Canadian, minimum, Aboriginal, reserve, boom.

e Learn the words from the text:
boom — BHe3amHbIi ycriex B Aenax, M0IbeM, TOBbILICHNE
tight — rutoTHbI#
to skyrocket — 1) crpeMuTenBHO IOAHUMATECS 2) OGBICTPO PACTH
booming — npeycneBaromiuii, pacTymnruii
account for — mpuBoIUTH K
available — umeromuiics
to rank first — sanumars epBoe MecTo
respectively — cooTBeTCTBEHHO
Aboriginal — 1) kopenHo#i 2) abopHUreHHBIIH
to live off reserves — 3/1. )KUTh BHE ITHUYECKUX 3aMIOBETHUKOB
challenge — npoGiema, cioxHas 3aga4ya
manufacturer — mpoX3BOANTEIb, IPOMBIILICHHHUK, PESAIPUHAMATEITh
to average — cocTaBJIAATh, PABHATHCS B CPEIHEM
SOME — OKOJIO, MPUOIU3UTEITBHO
report — coo0marhb

e Read the text and translate it with the help of the words above:
Alberta’'s labour market is the tightest in North America, with the lowest
proportion of jobless and the highest proportion of workers. Employment
has been skyrocketing, thanks largely to the province's booming oil and gas
and construction sectors.

The number of jobs in Alberta rose 6.0% in 2006, almost three times the
national average. The 2006 unemployment rate averaged just 3.4% in
Alberta, almost half the national rate of 6.3%. Alberta has had Canada's
lowest rate since 2003.
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Some 86,000 more people were working in Alberta in 2006, accounting for
27% of all employment growth in Canada that year, though only 1 in 10
working-age Canadians lives in the province.

The employment growth has brought with it wage increases. The average
hourly wage rose 6.9% in 2006—more than double the 2.6% rise seen
across Canada. Alberta’s hourly wage rate, $21.62 an hour, was the highest
in the country. Alberta had the lowest proportion of workers earning
minimum wage or less—just 1.7%.

With more jobs available and at higher wages, more people are working in
Alberta's largest cities. In 2006, Calgary and Edmonton ranked first and
sixth, respectively, among Canadian cities with the highest employment
rates. The job growth has also helped Aboriginal people—those living off
reserves in Alberta have an employment rate close to the Canadian average.
However, the boom is not without its challenges. Alberta employers in
some sectors are facing labour shortages. In 2005, for example, 42% of
Alberta manufacturers reported being short of skilled workers.

o Answer the questions about the text:
1. Alberta’s labor market is the tightest in North America, isn’t it?
What does this imply?
2. Thanks to what factors did employment in Alberta skyrocket?
3. What about the number of jobs in Alberta in 2006, compared with
the national average?
4. What about the unemployment rate in Alberta in 2006, compared
with the national average?
5. What else can you say about Alberta’s unemployment rate from
2003 to 20067
6. How many new people joined Alberta’s work force in 2006?
7. What percentage of all employment growth in Canada that year
does it account for?
What fraction of working age Canadians lives in Alberta?
What was the consequence of the employment growth in Canada?
10. What happened to the average hourly wage in 2006 in  Alberta
and in Canada overall?
11. How much was Alberta’s hourly wage rate in 2006? What about
other provinces and territories?
12. What about the proportion of workers earning minimum wage or
less in Alberta?
13. Why did more people begin to work in Alberta’s largest cities?

©
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14. Which Alberta’s cities have the highest employment rates among

Canadian cities?

15. What happened to the employment rate of Aboriginal people in

Alberta?

16. What are the challenges of Alberta’s employment boom?

e Find the English equivalents for these word combinations:

JoJist 0e3pabOTHBIX; JOJIS Pa0OTAIOIIMX; 3aHATOCTh OBICTPO PACTET;, BO
MHOTOM Onarojaps; mpeycleBalomuil cekTop; okomo 86 000 mromeit
JIOTIOJTHUTENILHO, YBEIMUYEHHE 3apa0O0THOW IUIAThI, CPENHSAS 3apaboTHas
mIara 3a 4ac; noabeM, HabmomaeMbrii B Kanane; npu Haawmauu OOJBINETO
KOJIMYECTBa pabo4yMx MeCT W ¢ OoJjiee BBICOKOW 3apabOTHON IUIATOM;
3aHUMAaTh MEPBOE MECTO; MMETh YPOBEHb 3aHATOCTH, OJIM3KHUI K CpPeIHEMY
no Kanane; HexBarka paboueit cuibl; 42% mpeanpuHUMATENeH COOOIUIN
0 TOM, YTO UM HE XBaTaeT KBATU(HUIIUPOBAHHBIX PabOUUX.

e Act out the dialogue:

What do you know about the employment boom in Canada?

Well... I heard about Alberta. Its labour market is the tightest in
North America.

When do we say that the market is tight?

When the proportion of jobless is low and the proportion of
working people is high.

Has it always been so in Alberta?

| doubt this very much. Employment has skyrocketed, thanks
largely to the province’s booming oil and gas and construction
sectors.

I understand. What about wages in Alberta? Are they higher than
the national average?

I believe Alberta’s hourly wage rate is the highest in the country.
Do the largest cities in Alberta attract a lot of job-seekers?

Yes, this is true. Especially about Calgary and Edmonton.

Do Aboriginal people fare easily in work force in the province?

I think the situation with their employment is much better than in
the country on the whole.

Does the province have any problem?

| would say the boom is not without its challenges.

What do you mean?

I mean labour shortages. You see, manufacturers are short of
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skilled workers.

Well... I don’t think it’s a problem. I would say it’s an advantage.
Maybe cheap labour force from other countries can help them.
Yes. Why not.

Answer the questions and make up a dialogue:

In what places in Russia is labour market the tightest? Where is it easier to
find a job in Russia? Where — more difficult?

Immigrants' perspectives on employment

e Guess the meaning of these international words:
immigrant, social, political, adequate, barrier, Canada, April, percent, to
report, Canadian, contact, qualification, problem, serious.

Learn the words from the text:

perspective — mepcrexTuBa, BU

pleased — moBoIBHBIIH

appreciate — 1eHuTh

adequate — 1) orBevaroruii Tpe6GOBAHUSIM 2) COOTBETCTBYHOIIH
to surmount — npeonxosieBaTh

barrier — 6apwep

a study — usyuenue, uccae0BaHUE

find (found; found) — oGHapyxuBaTh, MPUXOIUTH K 3aKITIOYECHHIO,
NpU3HABATh, yCTAHABJINBATh

job-seeker — couckarens Ha paGoyee MecTo

report — coo0marhb

to cite — 1) ccputatbest 2) IEPEIHCIIATH

recognition — npu3HaHue, 0J00peHIE

qualification — npaBo 3aHUMaTh KaKy0-JIHOO TOJKHOCTD,
KBATH()UKAIHS, TIPUTOTHOCTD

Census — nepenuch

mother tongue — poanas peus

sharply — TouHo, 311. pe3ko, KpyTo

0Vercome — mpeo/0yeBarhb

¢ Read the text and translate it with the help of the words above:
Most new immigrants are pleased to be living in Canada, and appreciate our
social and political environment. However, their biggest difficulties, even
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after four years in the country, remain finding an adequate job and
surmounting the language barrier.

A study of 25- to 44-year-old immigrants who arrived in Canada between
April 2001 and March 2002 found that 62% of them were still looking for a
job between 7 and 24 months after arrival. Fifty-three percent were still
looking 25 to 48 months after arrival.

Most immigrant job-seekers reported difficulties searching for work. Cited
most often were: the lack of Canadian work experience (50%); lack of
contacts in the job market (37%); lack of recognition of either foreign
experience (37%) or foreign qualifications (35%); and the language barrier
(32%).

About 16% of the job-seekers cited language problems as their most serious
difficulty. The 2001 Census shows that only 18% of immigrants who
arrived in Canada between 1996 and 2001 spoke English or French as their
mother tongue, down sharply from 40% of immigrants who arrived during
the 1970s.

However, most eventually overcame these difficulties. The employment
rate of the immigrants in this study rose from 51% six months after their
arrival to 65% two years after arrival, then 75% after four years in Canada;
the rate for Canadians in the 25-t0-44 age group is 82%.

Immigrants' employment rates, and the quality of their employment—a job
in their field, at a high skill level, and a good wage—improve with their
ability to speak English. Employment rates were also better for immigrants
who spoke French.

e Answer the questions about the text:

1. What do most new immigrants think about their experience in
Canada? Do they like social and political environment in the
country?

What are the biggest difficulties they face in the country?

For how long do they usually look for an adequate job?

4. What are the most common difficulties for immigrants
searching for work in Canada?

5. Do language problems play a significant role when immigrants
try to find a job?

6. Did some immigrants speak English or French as their mother
tongue when they arrived? Give percentages for different
periods.

7. Did most immigrants eventually overcome language problems

wn
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and find an adequate job? How long did it take them to find a
job?

8. What is the employment rate for Canadians in the 25-to-44 age
group?

9. Does the ability to speak English influence immigrants’
employment rates and the quality of their employment?

10. What does the quality of employment imply?

11. What about the ability to speak French?

¢ Find the English equivalents for these word combinations:

OBITH JOBOJIBHBIM, BBICOKO II€HHUTH COINHAJIBPHOC W IIOJIUTHYCCKOC
OKpY)XKEHHE; OTBeuarolee TpeOoBaHMSIM padodyee MECTO; NPEOJOJETh
SA3BIKOBOI Oapbep; M3ydeHHe HNMMMIPAHTOB; HCCJIEIOBaHHE YCTAaHOBHJIO;
umymud  paboTy; TPYAHOCTH TpU TOWCKE pPabOTHI; Hamboliee dacTo
NEPEUYNCIINCE, HCEAO0CTATOK  OIIbITa pa6OTLI B KaHaz[e; HEXBATKa
KOHTAKTOB Ha PBIHKE pa60q1/1x MCCT,; IPU3HAHUC 3apy6e>1<H0ro OIbITa WJIN
KBaH(UKAMK; HanboJiee cepbe3Hasi TPYAHOCTh; TOBOPUTH Ha aHTIIUICKOM
i (PaHIy3CKOM S3bIKE KaK Ha POTHOM; MPEOIONIETh TPYJHOCTH; paboTa
M0 CIEeUATLHOCTH; BBICOKHH POQeCcCHOHATILHBIH YPOBEHB.

e Act out the dialogue:

- There are a lot of immigrants in Canada from all over the world.

- | heard that Canadians are very proud of their tolerant society.

- Well... I admit tolerance is their strong side.

- How do new immigrants feel about their first experience in
Canada?

- Most of them are pleased with their social and political
environment.

- Do they face any challenges when they come to the country?

- Of course, they do. Their biggest difficulties are finding an
adequate job and surmounting the language barrier.

- These two problems are interconnected as far as | see.

- Sure. If you know English or French you have better chances to
find a job.

- What other problems do immigrant job-seekers face searching for
work?

- Cited most often are: lack of Canadian work experience, lack of
contacts in the job market, lack of recognition.

- Immigration is always a challenge to our abilities and morale
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(MopanbHOE COCTOSTHHE).
- It’s true. Let’s wish them good luck.
- Itis very appropriate to say that.

e Answer the questions and make up a dialogue:
People from what countries usually immigrate to Russia? Do they
sometimes have language problems? Do you have any advice for them?

Attitudes toward commuting
e Guess the meaning of these international words:
Canadian, to show, chance, negative, person, to combine, public, transit,
minute, to vary, Canada, median, kilometre.

e Learn the words from the text:

attitude — mo3uLys, OTHOLIEHHE, TOLXO

commute — 1) coBepIarh peryJsipHbIC TIOE3AKH HA paboTy B TOPOT
U3 TIPUropo/ia 2) exXeAHEBHAs Moe3/IKa Ha paboTy 1 00paTHO

SUrVeY — HCClIeIOBaHUE

quiet — CrIOKOIHBIN, HIYEM HE HapyIIaeMblil

busy — uHTEHCHBHBIH, OXKMBICHHBIN

to catch up on — 1) monacts, okasarbcs 2) 3aKOHUUTH

grocery — 6axasest

to do some repairs — peMOHTHPOBAaTh, 3aHUMATHCS PEMOHTOM

commuter — yejoBek, exymuii Ha paboTy uinu oOpaTHO

a great deal — 3. crbHO

to mind — uMeTh YTO-TMOO MPOTHB

frustration — pazouapoBanue

to bike — e3auTh Ha BenOCHTIEAE

a car ride — moe3ika Ha MaIIUHE

public transit — oO1ecTBEeHHBINH TPAHCTIOPT

negative — HemoOpoKeTaTENBHBIN

to be negative about something — ObITH OTpHUIATENBHO
HACTPOCHHBIM TI0 TIOBOJIY YEr0-Tn00

to add up to — cBoauThCS K UeMy-1H00

vary — MeHIThCS, KOJIe0aThCs

round trip — moe3ika Tyaa U 00paTHO

median — cpeIuHHBIN, cepeaNHHBIIH
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e Read the text and translate it with the help of the words above:

We are spending more time commuting to work, and a 2005 survey of
working Canadians shows that many of us enjoy our travel to work. For
some, it is the only quiet time in a busy day, while for others it is a chance
to catch up on work. Despite the negative impression that people have of
commuting, many still prefer it to grocery shopping or doing home repairs.
Some 38% of commuters like their trip to and from work, including 16%
who enjoy it a great deal. Only 30% say they dislike it. In addition, the
more a person likes their job, the more likely they enjoy their daily
commute and do not mind its frustrations.

Those who bike to work are the happiest commuters: 57% say they like or
greatly like it. Those who combine a car ride with public transit are the
most negative about their commute: 58% dislike or greatly dislike it. Of
those taking only public transit, 23% enjoy their commute, compared with
39% of drivers.

Commute times are getting longer. In 2005, we spent an average of 63
minutes a day travelling to and from work, which adds up to about 12 days
a year for a full-time worker. This compares with 54 minutes a day in 1992
and 59 minutes in 1998.

Travel times vary by city. Among Canada's six largest cities, Toronto has
the longest commute, at an average 79 minutes round trip in 2005, whereas
Edmonton has the shortest, at 62 minutes.

We are travelling farther to work. From 1996 to 2001, the median commute
increased from 7.0 kilometres to 7.2 kilometres.

o Answer the questions about the text:

1. What is the latest trend in commuting to work?

2. Do Canadians enjoy their travel to work?

3. What role does commute play in a life of a common Canadian?

4. Compare impressions Canadians have of commuting, of

grocery shopping and doing home repairs.

5. Do many commuters like their trip to and from work? Do
many commuters report that they enjoy it a great deal? How
many Canadians say they dislike it?

What are the most common ways of commuting in Canada?

On what factors does the attitude toward commuting depend?

8. Canadians say: “Commute times are getting longer.” Can you
prove it with the help of statistics? How long did they spend for

an everyday commute in 19927 in 19987 in 2005?

No
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9. How do travel times vary by city? What city has the longest
commute? How long was it in 2005? What about Edmonton?

10. Do Canadians travel farther to work? How did the median
commute increase from 1996 to 2001?

¢ Find the English equivalents for these word combinations:

OTHOIIIEHHUE K TIOe3KaM Ha paboTy W 00paTHO; UCCIIeIOBAaHNE Pa0OTAFOIIIIX
KaHaalcB, CIIOKOMHOE BpEMsI; 3aHATBINA JC€Hb, IIaHC IIOINAaCTh Ha pa60Ty;
HECMOTpsA Ha HETAaTUBHOC BIICYATJIICHUEC, MMOKYIIKa XJIG606}/HO'-IHBIX
HSZ[GJIHfI; ,Z[OMaIHHI/Iﬁ PEMOHT; HC BO3paXac€T MPOTHUB OTPHULATCIbHBIX
MOMCHTOB, €XaTb Ha pa60Ty Ha BCJIOCHIICAC, IIOC3JIKa Ha MaIIHuHE,
O6H.[CCTBCHHLII>1 TPAHCIIOPT, Hauboee OTpHULIATCIIBEHO HaCTpOCHHBIfI; 9TO
CBOAUTCA K ABCHAILATH OHAM B TOAYy, BpEMs B IIyTH, MOE3IKa Tyaa U
00paTHO; CpeaHss MPOJODKUATENILHOCTE MTOE3IKH Ha padoTy U 00paTHO.

e Act out the dialogue:

- llive close to my work.

- How lucky you are! How long does it take you to get to work?

- It’s about 30 minutes.

- Wow! Do you drive or use public transit?

- ljustwalk.

- Wonderful! Do you enjoy walking to work?

- Quite a lot because | walk along the bank of the river and the place
is beautiful.

- Do you make any stops on your walk?

- Sure. It’s very beautiful around. I see the reflections of churches in
the quiet water. Sometimes | feed ducks.

- You are very lucky indeed. As for me, | use public transit and I am
not quite happy about my daily commute.

- Butyou can read a book while on a bus.

- Well... I cannot always find a seat and during rush hour the bus can
get really overcrowded.

- | see.

- | hope someday | can afford to buy a car.

- Not a bad idea.

- Oh, my bus is coming. Good-bye.

- Bye. Have a good trip home.
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e Answer the questions and make up a dialogue:
How do you get to the university? Do you enjoy your trip? Do you live far
from the university? How much time does it take you to get to the
university?

Young pensioners: Few return to work
e Guess the meaning of these international words:
pension, financial, resource, Canadian, public, to collect, sponsor,
pensioner, boss, to report, to peak.

e Learn the words from the text:

benefit — mocodue, npuBmerus

retiree — mencuoHep

need - HCOOXOTUMOCTh

50-something retiree — meHcHOHEp B BO3pacTe MATHAECAT C
JIAIITHAM

tax filer — nanoromarenpumk

tax file — Hanorosast qeknaparys

public pension — rocymapcTBeHHAS TIEHCHS

kick in — mmaTuts cBOIO 10O

collect — mony4ars

employer — Hanumares, paboTOAATENb, IPEANPUHUMATEH

unrestricted — HeorpaHUYEHHBIH, 371, TIOTHBIH

long-term — maOTONETHMIT

persuade — y6exxaaTh, CKIOHUTD

seemingly — mo-BuauMoOMy

content — corjlacHbIN, TOBOJBHBIN

to report — cooGmare

self-employment — 1) pabora Ha cebs 2) camocTosTENbHAS
NpEIIPUHAMATEIHCKAS IESITEILHOCTh

likelihood — BeposiTHOCTB

peak — TOCTUTHYTH MHKA, MAKCUMyMa

downsize — ymeHplIaTh TabapuThl W Maccy AaBTOMOOWIS, 3.
YMEHBIIAThCS

incentive — srora, MOOLIPEHUE, CTUMYJT

to slow — 3amemssiThCst

COVEr — 3aIluIaTh

account for — HacuyMTHIBaTH, MPUBOJUTH K, CIY)KHTh MPHIHHON
4ero-nubo
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e Read the text and translate it with the help of the words above:
Generous employer pension benefits and other financial resources leave
many 50-something retirees with little need to keep working.

About one in five Canadian tax filers retire before they reach 60, the age
when public pensions kick in. Fewer than 1 % of workers collect an
employer-sponsored pension at any age from 50 to 54. But 5% of men and
4% of women retire at age 55, which is when many employer pensions
offer unrestricted benefits to long-term employees.

Once retired, it seems that very little can persuade these young pensioners
to go back to work. Only half of them worked for some pay the year after
they retired, and only 30% of early retirees earned more than $5,000.
Seemingly content not to have a boss any longer, many of them did not
even want to be their own boss—fewer than 1 in 10 young pensioners
reported self-employment income in the year after they retired. The
likelihood of re-employment falls the older one is at retirement age.

Early retirement peaked in the mid-1990s when governments and other
employers downsized and offered early retirement incentives. Early
retirement has slowed as younger employees today are less likely to be
covered by a pension.

On average, young pensioners' earnings a year before retirement were 50%
higher than those who did not retire early. Early pensioners continue to earn
about two-thirds of their pre-retirement income after they stop working.
Employer pensions account for more than 60% of young pensioners'
income.

o Answer the questions about the text:
1. Why do many 50-something retirees in Canada have little need

to keep working?

How often do Canadian tax filers retire before they reach 60?

At what age do public pensions kick in in Canada?

4. At what age do the youngest retirees begin to collect the
employer-sponsored pension?

5. At what age do many employer pensions offer unrestricted
benefits to long-term employees?

6. Is it easy to persuade young pensioners to go back to work?
Can you prove it with the help of statistics?

7. Do many pensioners work for some pay in years after they
retired? Do they earn much? Are they content not to have a
boss any longer? Do they often report self-employment income

wnmn
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in the year after they retired?

8. At what age are Canadian pensioners most likely to be re-
employed?

9. When did early retirement peak in Canada and why?

10. Why has early retirement slowed in Canada today?

11. Compare earnings of young pensioners and those who did not
retire early.

12. Do early pensioners continue to earn much after they stop
working?

13. What percentage of young pensioners’ income do employer
pensions account for?

Find the English equivalents for these word combinations:
IIe/Ipble TIEHCHOHHBIE TIOCOOMs 0T paboToaarels; MpoIoKaTh
paboTaTh, TOCYJapCTBEHHbIE TIGHCHH JOMOJHSIOT JApYyTrHe
JIOXOJIBI; TOJy4aTh IEHCUIO OT paboToaaTeNs; BCe BOSMOYKHEIC
nocoOust; padOTHUK MO HalMy, MPOpadOTaBIIMK MHOTO JIET;
MOJIO/IBIE  TEHCHOHEpBI;  JIOXOX OT  CaMOCTOSITENbHON
NpEATNPUHAMATEIBCKOH JeSITENbHOCTH; BEPOSITHOCTh
BO3BpalIeHUs K padoTe; paHHUW BBIXOJ Ha MEHCHIO OBLI
MaKCHMAJIBHO IMOMYJSPEH B CEPEAMHE JAEBSHOCTBIX; IITATHI
paboOTHHUKOB, pabOTAOIIMX HAa  TMPABUTEIBCTBO M JPYTHX
paboronaTeneld ObUIM COKpAILEHBI; MPEIIOKUTh CTUMYJIbI IS
paHHEro yxoja Ha INEHCHIO; PAaHHUI BBIXOJ Ha IEHCHIO CTall
Oosee penKkuM; UMETh MOAJEPKKY B BHJC IICHCUU; B CPEAHEM;
JIOXOJI TIepeJT BBIXO/IOM Ha IEHCHIO.

Act out the dialogue:

When do people in Canada usually retire?

You see, public pensions kick in when Canadians reach the age of
60.

But many of them have also employer-sponsored pensions.

Do you mean early retirement that peaked in the mid-1990s?
Exactly.

Very many people retired at that time at the age of 55 when many
employer pensions offered unrestricted benefits to long-term
employees.

Were Canadians likely to continue working after their retirement?
Half of them worked for some pay the year after they retired but in
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general they were content not to work any longer.

- What about the opportunity of self-employment?

- Some of them tried to use it but most preferred not to work any
longer.

- By the way, what caused so many early retirement incentives in the
1990s?

- Well... you see, governments and other employers downsized and
part of their staff were offered to retire early.

- What about our time? Is early retirement common in Canada now
to the same extent?

- No, it isn’t. Now it happens much less often. The reason is obvious:
younger employees today are less likely to be covered by a pension
than it was twenty years ago.

- Did the age of retirement depend on a person’s income?

- Sure. Only rich Canadians could afford to retire early.

- This sounds so familiar. It resembles Russia.

e Answer the questions and make up a dialogue:
Would you like to retire early? At what age would you like to
retire? How much would you like to get from the Pension Fund
every month?
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